Canada A's 1 (11-4)

CWL

Canada A's at Midwest Haymakers
Feb 10, 2015 at Palm Springs, CA (Palm Springs Stadium)

Midwest Haymakers 12 (7-8)

Player ab r hrbi bb so po a lob Player ab r hrbi bb so po a lob

Brandon "Pap" Papera 2b 3 000 OO0 O2 O Brady Brashier rf 5112 02 11 O

Michael Skoller ss 3110 01 02 O Conner McCain If 4 2 33 00 20 O

Larry Balkwill ¢ 1000 11 50 O Patrick Boulware dh 1101 20 OO0 O
Steven Sunday ¢ 101 0 OO OO O Brandon Tierney 3b 4 01 2 01 03 4

Dan Duran 1b 3010 OO0 61 O Daniel Massey 2b 5011 00 2 2 4

Yuki Yasuda dh 3 000 01 OO0 1 Daniel Oliver 1b 3210 02 70 2

M. Foley 3b 1000 O1 OO0 O Robert Latner c 2210 20 6 0 O
Sam Montgomery 3b 1000 OO OO O Elijah Briseno ss 2110 00 2 2 1

Chad Bunting cf 2 000 01 40 O Leroy Urbina ss 1110 10 OO0 O

Johnnie Dayton If 2 000 OO0 1 0 O Manny Estrada cf 2110 00 10 O

Tyler Gurman rf 1000 O1 OO0 O Matt Marquis cf 1112 OO0 OO0 O
Ryan Dietrich rf 1000 OO 10 O James Threw p 0000 OO OO O

Drew Bradshaw p 0000 OO OO O Caeden Ethington p 0000 OO OO O
Steven Rasmussen p 0000 OO OO O Joe Fiorino p 0 OO0 00O oo o
Garrett Bolt p 0000 OO 10 O Totals 30121211 5 5 21 8 11
Ben Runyon p 0000 OO OO O
Austin Delmotte p 0O 000 OO0 OO0 o

Totals 22 1 3 O 1 6 18 5 1

Score by Innings 1 2 3 4 5 6 7 R H E

Canada A's 1 0 O 0O 0 O 0] 1 3 2

Midwest Haymakers 1 3 0 2 2 4 X 12 12 O

E - M. Foley 2. DP - MWH 1. LOB - CAN 1; MWH 11. 2B - C. McCain. 3B - B. Tierney. HBP - P. Boulware; B.
Tierney; D. Oliver; M. Marquis. SF - C. McCain; P. Boulware. SB - C. McCain 2.
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Win - J. Threw (2-1). Loss - D. Bradshaw (3-2). Save - None.

WP - J. Threw. HBP - by G. Bolt (M. Marquis); by G. Bolt (P. Boulware); by B. Runyon (D

(B. Tierney).

Umpires -

Start: 2:45 Time: 2:00 Attendance:

Weather: 84
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